Multiply.

L 3x3= 2, Ixi8.
9. 1x4= 10, L x=
13. Exixis 14.
16. S xix 2= 17.
19. $xitx2= 20.
Solve.

22. Joe wants to make multiplying 2 x > >< i easmr Therefore,
he first needs to cancel out common factors in the fractions.
Show how Joe should cancel before multiplying.

oo

B o 5 _
4 3 X73=
7 6
8 10 < 28

15.

18.

21. %x~x—=

2
3><

5., 10
6" 12




Directions: Choose the one best answer to
each item. Circie the number of the correct
answer.

23. Steven puts % of his earnings into savings.

24,

285.

He plans to use % of his savings to fix up

- his car. What fraction of his earnings will

he spend on his car?
1

1)
1

(2) 1

3) %

@ 1

) 1

Terri has 2 cup of flour to make bread.

She needs to save ¢ of that flour for

kneading. How much flour will Terri put

aside? (Answer is in lowest terms.)

(1) 55 cup

(2) 3cup

(3) T cup

(4) cup

(5) 5 cup

At a company, 5 of the employees would
like the company to pay for dental
insurance. Of those, % would also like the
company to pay for dental insurance for
their families. What fraction of the
employees would like the company to
pay for both benefits?

1 5
)
3)
4)
(5)

GVt | El’_' nfeu

26. Kathy is learning to cancel fractions. She

27.

has to multiply %, -1%, and % Which answer
shows a correct way to cancel completely?

1
M Zx4x3
3
1 2
@ Zxtx3
3 4
1 2
(3) %x%x%
4 1
1
1 Zz
0§ dnd
3 4 1
1 2
o fdod
3 2 1

In item 26, what is the answer to Kathy’s
problem?

O 3
@
3) &
4 1
5) ¢

28. John has a recipe that calls for 2 cup of

sugar. He wants to make 3 of the recipe.
How much sugar should John measure?

(1) &cup
) 15 cup
(3) 5 cup
(4) §cup
(5) mnone of the above

2%




